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Paper 1
gyuret 1

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

Time Allowed : 60 Minutes]

[Maximum Marks : 100

AT : A1 YR U (50) SgHeE TR feoel ST Wsh TR g (2) U SR

¥d yvq e

Directions :
Question numbers 1 and 2
are based on the following
diagram :
The following is a diagram of a
company ABC showing the quantity
of a certain goods exported in lakh
units and the revenue generated in
crores of rupees for the years 2011
to 2015 :
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In which year the revenue
generated per unit exported is

maximum ?
(A) 2012
(B) 2013
(C) 2014
(D) 2015

What is the average (arithmetic
mean) per unit revenue generated
during 2011 to 2015 :

(A) Rs. 166
(B) Rs. 200
(C) Rs. 233
(D) Rs. 300

Directions :

Question numbers 3 and 4
are based on the following

information :

Among 800 students 220 failed in
Marathi, 300 failed in English, 150
failed in Hindi, 125 failed in both
Marathi and English, 70 failed in
both Marathi and Hindi, 60 failed
in both English and Hindi. 30 failed

in all the three languages.
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vt guia Fafa gfdesg wege FHfHd
A AR ?

(A) 2012
(B) 2013
(C) 2014

(D) 2015

2011 @ 2015 31 FeBMdTel Ffder] TREd
(viforq wew) wegel fAfddt fordt e ?

(A) ®. 166
(B) % 200
(C) & 233

(D) % 300

L A2 S LI

YT hUleh 3 3T 4 Yeie Hifgdiaw
JMeTia Ied ¢

800 femmeattent, 220 TS -TIE 3TcA,
300 SIS A9 $et, 150 fe<ia e

I, 125 TS 9 TUSH Sreid A9

e, 70 WS 9 fe<t =i A9 3,

o [a N0

60 3USt 9 fe<i S =id 9™ #et. 30
fommelt di=r ™G ATIE ST




How many students failed in exactly

two languages ?
(A) 195
(B) 165
(C) 250
(D) 255

How many failed in only one

language ?
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Tl S ATSHES A forneat=h we
ot ?
(A) 195
(B) 165
(C) 250

D) 255

Thekd WehT WO ATqr= T fondl 2

Which is the most thickly populated

state ?
(A) A
(B) B
(C) C
(D) D

(A) 195 (A) 195

(B) 165 (B) 165

(C) 250 (C) 250

(D) 255 (D) 255

The following is the information about qdta  Arfgdr U 4 &%z 9

area of states and population : GIET IS EIE R

State A B c D T A B C D
Area (in 80,000 | 50,000 | 10,000 | 5,000 e 80,000 | 50,000 | 10,000 | 5,000
square km.) ’ ’ ’ ’ (4. fopit. wed) ’ ' ' ’
Population AFHEE
(in lakh) 16 10 4 ? (@) 16 10 4 3

gatd SR <l AhaeAl STHUR T
HIO ?

A) A
(B) B
(C) C
(D) D

[P.T.O.



Which of the following is the correct
full form of TRAI ?

(A) Television

Authority of India

Regulatory

(B) Telecom Regulatory Authority
of India

(C) Teleservices Regulatory

Authority of India

(D) Telephone
Authority of India

Regulatory

In which year the Information
Technology Act was enacted in

India ?

(A) 2005
(B) 1980
(C) 2000
D) 1990

Who played an important role in
developing the first supercomputer

in India ?

(A) APJ Abdul Kalam
(B) Anil Kakodkar

(C) Raghunath Mashelkar

(D) Vijay Bhatkar
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TRAI o1 JI<T=1 I eneR fown

JEICTUhl ShIOTT 2

(A) 2fafesa Tgaed et siw
sfean

(B) 2fasia Tgered ouifEr o1fw
sfean

(C) foufge™ Tgoed AeiiEl ifh
sfean

(D) faw Tgeredt sreifEt 1w
sfean

WRATd Hifgd! d5I HI¥e] hegl STHAT
e ?

(A) 2005
(B) 1980
(C) 2000
(D) 1990

YRSl gfgedn TH STt foehrma
FIvlt HEr iR dSEe! ?

(A) THS 3Tsgd o

(B) 317 hIehIgah

(C) TIAY HRITRT
D) fasa wea




10.

11.

Government of Maharashtra has
made compulsory for schools to enter
information of all the students on the

web portal known as :
(A) Pavitra

(B) Saral

(C) Sarathi

(D) Shalartha

Which among the following is part
of the digital initiatives for higher
education in India ?

(A) National School of Digital Arts
(B) National Academic Depository
(C) Central

Data of Indian

Universities
(D) Digital Vidya

One of the following waste is not

under hazardous one :
(A) Agricultural reside
(B) Chemical

(C) Paint

(D) Electroplating waste

10.

11.
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TERTSE GLhRA 9d T §d foeneatt

ATfed! elcTdeh! I Hehaeeresia]

ficau e hal 3TE ?

(A) e
(B) &
(C) HRret
(D) wrene

o~

URATde 3T T¥1etum=a &=dia fefSed

JEhR ASd JEIcaTdeh! hemr=l THTCET
Bl ?

(A) M T A fefsiea ey
(B) ¥ sfefae feuffared

oc N

(C) ¥ea TRl Ah sfead JHerdds

(D) fefsea fa=n

JEITUh! RV HaXl BTN TR

Tt B A ?
(A) et

(B) TEHEfeh

(C) T=

(D) &
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12.

13.

14.

UN Conference on Environment and

Development in 1992 was held at :
(A) Rio de Janeiro

(B) Stockholm

(C) Paris

(D) Johannesburg

Biomedical waste of human and
animal tissues, organs and infected

body parts are to be disposed using :
(A) Autoclaving

(B) Microwave

(C) Composting

(D) Incineration

Landslides hazards are common in

the hilly regions due to :
(A) Loss of vegetation
(B) Loss of soil

(C) Cutting of hill slopes

(D) All of the above

12.

13.

14.
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T 1992 wEA
qgFd WUST FETHAT qATIIOT 4

(A) fen fe s
(B) wIwgH

(C) uR=

(D) Serger

wHEel 9 grfor aef, ereEd 9 gfvd
IRIIEaE 1 Sadgeha ha-aret faegare

S YT SLS] hiFesul § Hohe “gHad
JHOAE HRI

(A) &= "

(B) W=l g™

(C) SR el Ul

(D) I8 we




15.

16.

17.

International Solar Alliance was
established to promote the solar
energy. Its

established at :

headquarters is

(A) Gwal Pahari, Gurgaon
(B) Bengaluru

(C) Dubai

(D) Nairobi

To receive the degree Vasu (3Y)

learner was expected to learn

minimum ........... years in Gurukul.
(A) 12
(B) 24
(C) 06
(D) 08
The

Commission (1948) recommended

University Education

that there should be minimum

working days
excluding examination days in

universities and colleges.
(A) 180
(B) 200
(C) 220
(D) 240

15.

16.

17.
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A WR qe9id § R 3T

(A) & TR, T
(B) STI®

(C) g8

(D) Rt

‘gg’ & el 9T HRUATHIS
ATIARHTA EREIRCE]
Teehelld eI Hd AN 379

(A) 12
(B) 24
(C) 06

(D) 08

fagardis feor s (1948) fagardts
IR IEERIGRIG I A SRl
E- e SRR 3?1@ SR foag

[N

(A) 180
(B) 200
(C) 220

(D) 240

[P.T.O.



18.

19.

20.

The main role of UGC in higher

education iS t0 ...coeevueeunnennnnen. .

(A) open universities in all over

India
(B) accredit universities
(C) control university administration
(D) provide funds to universities

National Environmental Engi-
neering Research Institute (NEERI)
is established at .................... .

(A) Nagpur
(B) Calcutta
(C) Panjim
(D) Chennai

Supreme Court was directed in
judgement given in 1991, to make
the subject

compulsory in the college curricula.
(A) women study

(B) environmental study

(C) information technology

(D) value education

18.

19.

20.
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I=a Torgomaed ISE= gqE yften

(A) 990 vRame fagardic g& o
(B) fagardier= gHTUiieRtor o
(C) fagardie yemerER s Sau

(D) foc@miem foa qEar &)
TS gFtaReiE ATt gvnes

(A) TR

(B) et

(C) dorsit

(D) =T

Hated =mATeE™ 1991 dreft feere

RIIGATeTE SARATIhHHT SR shetel

R,

(A) St fergon
(B) TSRO 3%
(C) it Tl
(D) HeAfeem

10



21.

22.

23.

Reflective teaching is a .................. .

(A) Cyclic process of thinking about

learning

(B)

Linear process of thinking

about teaching

(C) Cyeclic process of thinking about

teaching

(D) Linear process of thinking

about learning

should

and teach accordingly.

teacher identify

economic condition of students

individual differences among

students

(&)

economic condition of parents

(D)

individual differences among

parents

SWAYAM PRABHA is a group of

channels devoted to

telecasting of high quality

educational programmes.
(A) 32 DTH
(B) 24 DHT
(C) 7 THD
(D) 12 TDH

22.

23.

JUN - 00120/I—D

(A) ITETIATEEE foaR HivaEt i

PIERI

(B) 37eAMUATSNed fo=emR A=l o

EIERI

(C) AT faaR vl Ifed

PIERI

(D) ITeTIAEEd faaR i) I

HA .

(A) faeneaf=h enfefe feordt
(B) faeneafuefiar =afeadg
(C) dreRr=h offefen feerdt
(D) TeRMHd AT

oS LA

SWAYAM PRABHA @ 3=9 c9id
Yierforer wEEE gOfaq LvErESe

(A) 32 DTH
(B) 24 DHT
(C) 7 THD

(D) 12 TDH

11
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24.

25.

26.

27.

A traditional teaching support
system includes ...........ccc......... .

(A) White Board
(B) Smart Board
(C) Digital Board
(D) Three-Dimensional Models

A teacher goes through the student’s
notebooks and gives remarks. This
is called as ............. .

(A) Notebook checking
(B) Daily Remarks
(C) Evaluation

(D) Assessment

Socrates has given

method of discovering the truth.
(A) Experimental

(B) Observation

(C) Criticism

(D) Dialogue

Experimental researches are aimed
17 R .

(A) establish association between

variables
(B)
(C)
D)

describe variables
study the application of theory

study trend analysis

24.

25.

26.

27.
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HAAA qRARe HERAYd Folefdes
............................... 1 TR
(A) =@ e

(B) & e

(C) fesiea ar€

(D) Tafac= wfasdt

Toreresr faeneat=n geon qurgara 7for 3R
A, ATen

(A) Hige@t qurEot
(B) SHfeT W

(C) HIHMIA

(D) Hedih

(A) T oY YU o
(B) 9™ U 0
(C) Togiaren SUASHRET S1I™ 0

(D) 994 (trend) favarsomen s1eamg
HIOL.

12



28.

29.

30.

Limitations laid down by the

researcher are called as .............. .
(A) Objectives

(B) Delimitations

(C) Assumptions

(D) Hypothesis

For any frequency distribution, 50th

percentile and

same.
(A) Mean

(B) Median

(C) Quartile Deviation
(D) Standard Deviation

A researcher uses data of an earlier
research paper and publishes a new

research paper, thisis ................... .
(A) ethical

(B) unethical

(C) permissible

(D) proper

28.

29.

30.
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HYNLhT ®QA sdaedl qaigran

(A) Sfegee
(B) uftHaier

(©) ‘lélﬂ@
(D) 9REeq

HIoTATEl IRarar fadqeomardt, 504

ST
(A) HeEHE
(B) W&
(C) =qds fo=em
(D) w9 feree

T GyiEe Jai=ar geieaaendid

oo N

Hifgdl dAMO%®d e HeeoE  fafgdl.
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Directions :

Answer Question Nos. 31 to 35
based on either the English

passage or the Marathi passage :

The role of higher education is
unquestionable in building a
modern economy and an equitable
society and the scope of higher
education in India has been steadily
growing. According to the Twelfth
Plan

Commission 2017), the allocation of

Five Year (Planning
public spending on universities and
other higher education was ¥ 19,800
crores. The New India NITI Aayog
Vision (2031-32) has mentioned a
fully literate population as one of its
benchmarks. Since the last decade,
the higher education sector has
been occupying a dominant position
in the economic planning process.
The government policy in this
context aims to attain expansion,
excellence and equity; taking higher
education initiatives which can
enable India to match up to global

standards.

JUN - 00120/I—D

AT

U9 wHiek 31 9 35 ¥ Ue faoremw
IATATET MM ATed, ST
feRar TG SAr=ATeid wg=en 3wt
3 | I

qE] ST ThTehqUMTE o3 Tl
Aet g feeies qayd 99 ST
o g o morgsiq JeeT
geerd Id STFAHN ql STk M THIA
TGl SR, W HIE QIvarget @
fremieht 51 wgfea ot gRfem = g
d HHET g died 2Tehdl. HFeE! geid
e el 76 T wE gEd
FEATE Bl HHEISYeld T HEwr=
U SR TS AHEEl Siad S 31
TS g aieelel 37R. /e Sted
fordidt g:ug, wweug onfor orgxfad
A, T IS AV " Felhe
TR Wigsihe Td fF& (regression)
Iehd ARl TR0 WU HEReR S
Slfgengtedl T Tehll 3TEd, A el
STofel 3. R ©R HHE! I W

HTO RS GIE S0 IUEda=Al

14



While higher education equips
people with relevant skill sets in the
open labour market, making them
upwardly mobile against socio-
economic parameters, the same is
not reflected in the academic labour
Today,
proportion of highly educated

market. a significant
professionals are stuck in a volatile
academic ecosystem. They are
recruited on ad hoc basis and their
is no formal law to govern the terms
and conditions of their contractual
engagement. The Contract Labour
(Regulation and Abolition) Act, 1970
primarily covers blue-collar job
incumbents, keeping their white-
collar counterparts outside its ambit.
The growing number of universities
(568%) cannot alone fulfill the criteria
of expansion, with negative growth
in absolute increase in employment.
The growth in enrolment rate of
students is expected to reach 25.2%
by 2017-18 from 17.9% in 2011-12
(Planning Commission 2017). The
question is if the targeted growth in
enrolment rate is aligned with the
number of quality teachers in higher

education.
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ST Ael geere fesM yar sl
STHI HIUE IR gepd Teiel 378, el
fagndren @ sTaRaesha TR, oI
A Shales oh, TaM ST SHTHeTE

T JAYd YR TReTE Ui e
IeAd ARl, W ATAaRed a8 3T

TS A1 AR A fewdl. W

Al A RSl gl e wa

R hl AMFel Yelshe R SR,
A e faeg T FEifa sete
2 ICICARCIUE I IR E L RS L

TR AT J&ish U Baeie 3:”%

r=AT Fe HIEl 9HET (human

problems) {ed EIA. U ATAT

‘HUE’ WU STl TS AT

A=A HIVE WU
AT Td HIE] I (intensive

passions) 3T TRST a1 A=A IR

AT 3THAT.

o e fa)

JEAE, W A S FEISe g
ST ST, N AR ST, TR
fSaqent afereaget o8@, faqen @
TS afrseagut enfor fafay steam.
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31.

32.

What does the author mean when
he says that since the last decade,
the higher education sector has been
occupying a dominant position in
the economic planning process ?

(A) The last decade in political
scenario is more dominant than
the previous ones.

(B)

The higher education sector is
dominating the other sectors.

(C) The policy makers with finance

department have been
dominant during the last

decade.

(D) Comparatively more financial
support is given to higher
education sector during the last

decade.

The policy makers in India are
taking steps to increase expenditure
towards higher education sector
because :

(A) They aim at enabling India to
match upto global standards.

(B) They wish to influence the

global market.
©)

There is a lot of pressure in
international politics.

(D) A lot of funding is available

from global financial

institutions.

31.

32.
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[} fal = ~
TSI AFel geeid ST HIvEH

RV TS THEA 2

(A) fommfa

(B) WehTehIgUT

(C) HasarIsar

(D) et Hqem

HIUE Al Plehgd To1 W<ihe

TF& 3ha @I, RO :

(A) Sifges =™

(B) AHfE® Wt

(C) whifgasr fawm

(D) it

16



33.

34.

The attitude of the author towards

the teachers is .........cccceeeennn. .
(A) Ironical

(B) Doubtful

(C) Sympathetic

(D) Disrespectful

The author says that today, a
significant proportion of highly
educated professionals is stuck in
a volatile academic ecosystem

because :

(A) Highly educated professionals

are ill-trained.

(B) There is a lack of formal law to
govern the terms and conditions
of contractual engagement of

highly educated professionals.

(C) There is a lack of motivation on
the part of highly educated

professionals.

(D)

There is a lack of unity among

the highly educated professionals.

33.
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T e SRS ShImel STevehdl

e ?

(A) HIUXA

(B) fremiidiaan

(C) TRMETdaan

(A) Geiferiel smed

(B) Ayt faeqy fraed exr=ameit

(C) greg= faulfa Helean smed

(D) frerigein fAuift Seiean smRd

17
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35.

36.

37.

Statement I :

There is the growth in the number
of universities.

Statement 1II :

There is the growth in absolute
increase in employment.

According to the passage,

(A) Statement I is true and
Statement II is false

(B) Statement I is false and

Statement II is true

Both Statements I and II are
true

Both Statements I and II are
false

(&)

(D)

While defining communication
Miller focuses on .......cccccccuueunnnnnns .

(A) behavioural change of receiver
(B) message

(C) perception

(D) sender

Serial functions of sender in
communication cycle are as follows :

(A)

Collection — formulation —
encoding — projection

(B) Receiving — decoding —
interpretation — projection

(C) Receiving — formulation —
decoding — projection

(D) Encoding — formulation —

decoding — projection

35.

36.

37.

JUN - 00120/I—D

U] Hel | e 7 YUAHRT

qed SR & ?

(A) HHIS ST&er
(B) HH&Eh S
(C) Tifer TS
(D) Hfifeh =zraeen

U] e HIaMl TR
W <dw.

(A) TR FdTeRaATaN
(B) HWR

(C) 3TesiEer

(D) YorRTeR

GUTUTIRTAES GWhRT=l hiAT &

YRITYHTl STHAT

M [

(A) TR — G — Fehieh
— HHT

(B) W0 — FHhfdehieto — 319
— FEgU0

(C) T&U — YR — T b fciehiehio
— HE90

(D) Aishfashietn — FYPHR —

IBRSIEAGEIC T M.t e

18



38.

39.

40.

The components of communication
cycle are sender, message, receiver

and .....ccceeeeeeenn. .
(A) noise

(B) media

(C) barriers
(D) feedback

Which of the following is one of the
communications based on number of

parties involved ?

(A) Personal communication
(B) Formal communication
(C) Horizontal communication
(D) Informal communication

Characteristics of mass media
communication are large number of
audiences, heterogeneous audiences,

scattered audiences and ................. }
(A) illiterate audiences
(B) noise disturbance

(C) absence of direct feedback

(D) powerful media

38.

39.

40.

JUN - 00120/I—D

TISUTEHTS TSR, TV, UTEH 9

(A) v
(B) e\
(C) 3TEes

(D) FATHI

qRicTUehl ShIUI TIOUT § TEUTT TEL=T
A Ui Fed ?

(A) SAfRTTT HIwT

(B) Sv=fiss HIw0l

(C) &fds (Horizontal) FHWO

(D) =T HIw0

SR 2, SERE 4 (heterogeneous
audiences), fo=ai@ & 9
& g WA afvre g

(A) TReR 4
(B) Ty ASUa
(C) TI&T JeAIWIu=] 3T

(D) e HIegH
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41.

42.

Consider the following set theoretic
expressions X, Y and Z where
U-union, nN-intersection and
superscript ‘C’ is set complement :

X=PnQnNR
Y=PnQ uU®PnR) uU@QnRE

Z=QuUPY) APUR NPUQ
um(PCuR)

Then which of the following is
true ?

(A)

No two expressions represent
same set

(B)

All three expressions represent
same set

(C) Only X and Z represent same

set

(D) Only Y and Z represent same

set

Consider the following ordered
string of pebbles of three colors,
green (G), blue (B) and red (R) :

X = GGBRBRRBBR
Y = GBRRBRBBRG
Z = RBBRGGBRBR

Which two of them will give us
identical necklaces prepared by just
making the first and the last pebbles
of the string adjacent ?

(A) Xand Y
(B) Y and Z
(C) X and Z
(D) No two of them are identical

41.

42.

JUN - 00120/I—D

Gl TafeE TRt X, Y onfor Z fo=mra
1. M U-HAR, N-8% F JUEhIE
‘¢ I 99 Seifaa
X=PnQnNR

Y=PnQ u®A~R) U@Qn RS

Z=QuUPY)Y"PUR NP UQ
um(PCuR)

WeATAlsh! hivd faam a& e ?

(A) RIS T RN RGN H <3ieid
BRI

(B) 99 98T UIN WRWE 99

iforam.

(C) wad X omfor 7 TRt 9En 9«
RUEGIGH

(D) ®ad Y Tfor Z TRM WEn 99"
Tyiferdrd.

qeid feeriedn b T fagan (G), e
(B) 9 & (R) T<dr=al &idqeh Hool

A

X = GGBRBRRBBR
Y = GBRRBRBBRG
Z = RBBRGGBRBR

AT I SF Al AREAE B
SR gfgenn 9 Jacal Wel VSR Jaet
w ?

(A) X effor Y
(B) Y amfur Z
(C) X smfor Z
(D) HIVTET S A3l TREAT BI0R TE
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43.

44.

45.

The average weight of 25 children
seating in a boat is 22 kgs. The
average weight of the 25 children
and padded is 24 kgs. What is the
weight of the padded in kgs ?

(A) 74
(B) 71
(C) 75
(D) 100

Dayanand planted sugarcane in
1/3 of his farm, groundnut in 1/4 of
his farm and jowar in the remaining
farm of 25 acres. How much is the

total farm in acres to Dayanand ?
(A) 50
(B) 60
(C) 120
(D) 75

What sum is to be invested for
2 years at 14% interest rate
compounded annually to grow to
Rs. 5458.32 ?

(A) 4120
(B) 3300
(C) 4200
(D) 4400

43.

44.

45.

JUN - 00120/I—D

TRl Ao Sl 22 foRY. asAmET 25
ol e, AATSaTHg Falid IO oS
24 TRy, =&, W AESA™ g9q R
aey fohdt ?

(A) 74

(B) 71
(C) 75

(D) 100

ggMed 3TIe Ve 1/3 a4,
1/4 9T R & STl 25 THU SoR]
e, TR SaMed ThY fhdl TR T
R ?

(A) 50

(B) 60
(C) 120
D) 75

fodl wAET TaavE 2 aufErE
THLEY. 14 T. S <UH difsian
Thale hedid . 5458.32 fHesdial ?

(A) 4120
(B) 3300
(C) 4200

(D) 4400
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46. While entering into the train Anil

47.

48.

was ahead of Shyam, who was ahead

of Kiran, Anil was behind Shweta.

Which of the following shows the

correct order of entry into the

train ?

(A) Anil — Shyam — Kiran
Shweta

(B) Shweta — Shyam — Anil
Kiran

(C) Shweta — Anil — Shyam
Kiran

(D) Anil — Shweta — Shyam
Kiran

If LONQ is converted into JMLO

then by the same principles what

could be the correct alternative for

the GDJM ?

(A) EBHK

(B) ECIL

(C) EHIK

(D) ECHK

Which of the following is a correct

description of the statement given

below ?

Statement :
All animals die.
Human beings are animals.
Every human will die.

This statement is :

(A) Perception

(B) Inference

(C) Comparison

(D) Implication

JUN - 00120/I—D

46. TTEA ST YT HIAMAT ST A=

47.

48.

e Bl i S fRre g omR. At
TS 1 3T, T Y@ieTeh! hIvwl gt
AT HIOAET IR hH TR 7

(A) A — 3\ — RO — vo

(B) 8@ — ¥M — A — T
(C) a1 — I — 3| — fowm
(D) A — 9@ — IH — fwo

SR LONQ a™® ®9@R JMLO 2™ 3

WA W I dr=A MER GDJIM
ST HIVAT YA THA 2

(A) EBHK
(B) ECIL
(C) EHIK
(D) ECHK

feciean faumm

JEAdeh] hIT T
sRI& Ui Ll ?
faem -
Hd Yol A SR
AT TH 07 SR
EET R R O

(A) A
(B) T3AM
(C) 3UHH
(D) rAig<it
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49.

50.

Which of the following diagrams
shows the correct relationship among

the three terms — Women, Sisters,
Mothers ?

(A)

(B)

(C)

O

Which of the following is/are the
valid conclusion/s based on the
statements given below ?
Statement I : All players are
aggressive.

Statement II : Some politicians are
aggressive.

Conclusion 1 : Some politicians are
not aggressive.

Conclusion 2 : Some players are
politicians.

Codes :

(A) 1 only

(B) 2 only

(C) 1 and 2 both

(D) Neither 1 nor 2

(D)

@

49.

50.

JUN - 00120/I—D

IR Hay g¥ffad — foran, afgom,
Hrdr ?

(A)

(B)

©)

@ O

el fectea faummer snenf@ woE

frops 3fed smRa 2

faam I : 99 Teolg W 7.
faeam I : & TSRO A SR,
fers 1 : FE TSR Wi TR
el 2 : FRT TBg TTHRT 3T
Hehd

(A) 1

(B) 2 W

(C) 1 enfor 2 =

(D) 1 enfor 2 =R A
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ROUGH WORK

24



